

### Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: November 3, 2022

Progress Estim	ate Number	Contract ID Prime Contractor	211119-G02 APAC-Central, Inc.	Pay Period Start Pay Period End	October 16, 2022 November 1, 202		\$9,969,500.00 (\$535,341.10) \$9,434,158.90	
Approval Date							By User	
November 3, 2022			Generated and Ap	oproved (and should	be considered Dra	ft) at the Project Office Level by	RUSSEA1	
November 3, 2022		R	eviewed and Approv	ed (and should be co	onsidered Draft) at	the Resident Engineer Level by	evendj1	
November 4, 2022			R	eviewed and Approv	ed at the Central C	Office Controllers Office Level by	ramses1	
Original Comp	letion Date Current Completion Date Actual Completion Date % of Current Contract Amo							
November 2	23, 2023	November	1, 2023			58.43%		

	Contract Informational Dates											
Date Description	Original Completion Date	<b>Current Completion Date</b>	No Milestones Exist for Contract									
Acceptance Date												
Awarded Date	December 1, 2021	December 1, 2021										
Letting Date	November 19, 2021	November 19, 2021										
Notice to Proceed Date	January 31, 2022	January 31, 2022										
Open to Traffic Date												
Work Began Date	April 4, 2022	April 4, 2022										

Contract Total Pag	y For Estimate No. 17				
		This Estimate	Previous	To Date	
211119-G02					
	Total Posted Items Pay	\$1,297,617.40	\$4,215,045.77	\$5,512,663.17	
	Gross Item Adjustments	(\$70,614.17)	\$1,118,608.91	\$1,047,994.74	
	Incentive	\$17,945.96	\$39,430.56	\$57,376.52	
	Disincentive	\$0.00	\$0.00	\$0.00	
	Liquidated Damage	\$0.00	\$0.00	\$0.00	
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00	
			\$5,373,085.24	\$6,618,034.43	
<b>Contract Total Pay</b>	yable This Estimate:	\$1,244,949.19			

#### Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
J7P3210	0030	2035000	UNCLASSIFIED EXCAVATION	CUYD	\$13.500	5,111.5	\$69,005.25
	0150	4010150	TYPE A2 SHOULDER	SQYD	\$30.400	352	\$10,700.80
	0180	4019905	MISC.OPTIONAL PAVEMENT - 9" HMA/7.5" PCCP	SQYD	\$32.500	465	\$15,112.50
	0190	4019905	MISC.OPTIONAL PAVEMENT 11.5" HMA/9" PCCP	SQYD	\$39.500	96	\$3,792.00
	0210	4030003	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP095C MIX)	TONS	\$63.190	7,919.23	\$500,416.14
	0220	4030208	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP190C MIX)	TONS	\$84.950	1,755.38	\$149,119.53
	0260	4071005	TACK COAT	GAL	\$2.300	9,234	\$21,238.20
	0270	4133200	ULTRATHIN BONDED WEARING SURFACE, TYPE C	SQYD	\$6.550	25,304	\$165,741.20
	0280	4134000	BITUMINOUS FOG SEAL	GAL	\$2.950	1,200	\$3,540.00
	0500	6181000	MOBILIZATION	LS	\$360,000.000	0.5	\$180,000.00
	0580	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	LF	\$0.250	18,000	\$4,500.00
	0630	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	SQYD	\$0.750	96,000	\$72,000.00
	0670	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	LS	\$20,670.000	0.25	\$5,167.50
	5009	4139905	MISC. HIGH FRICTION SURFACE TREATMENT (HFST)	SQYD	\$20.750	1,400	\$29,050.00
Project J7	P3210 - To	tal					\$1,229,383.12
J7P3352	1090	4139905	MISC.HIGH FRICTION SURFACE TREATMENT- BUXITE	SQYD	\$19.600	2,210.5	\$43,325.80
	1110	6161005	CONSTRUCTION SIGNS	SQFT	\$6.150	276	\$1,697.40
	1140	6161033	DIRECTIONAL INDICATOR BARRICADE	EA	\$50.750	10	\$507.50
	1150	6161040	FLASHING ARROW PANEL	EA	\$610.000	1	\$610.00

Revision 4/1/2020 Page 1 of 16



#### **Missouri Department of Transportation** Contractor's Pay Estimate Summary

Pay Estimate Created Date: November 3, 2022

Progr		timate Nu 17	ımber	Contract ID Prime Cont		11119- PAC-0	-G02 Central, Inc.			October 1 November		Net Ch	al Conti ange O it Contr	rder A	Amount	(\$535	69,500.00 5,341.10) 34,158.90
Project Numbe		ine Imber	Item Code			Ite	em Descripti	on			Unit	it Unit Price Current (Installed Qty			nt Installed		
J7P3352			161055	SEQUENTIA	L FLASHIN	IG WA	ARNING LIG	HT			EA	\$5	0.750		10	•	\$507.50
	1	190 61	181000	MOBILIZATIO	ON						LS	\$28,78	31.440		0.75		\$21,586.08
Project .	J7P335	2 - Total															<b>\$68,234.28</b>
Overall -	- Total															\$1,	297,617.40
ontract A	Adjustr	nents Thi	s Estima	<u>ite</u>													
F	Adj Typ			Entered By			Comment		Т	ime Units		Ra	ate			Amou	nt
		Incentive			JSSEA1		-	ctors Lot 7									\$9,604.8
		Incentive Incentive			JSSEA1 JSSEA1		•	actor Lot 8 actor Lot 6									\$6,824.5 \$1,516.5
overall -		IIICeIIIIVe		IXC	JOSEAT		гаута	CLOI LOLO									\$17,945.9
			These amounts are listed in the Incentive, Disincentive, Liquidated Damages or Other Contract Adju					djustme	ents			<b>4</b> 11 ,0 1010					
ne Item /	<u>Adjust</u>	ments Thi	is Estim	<u>ate</u>													
Project Number	Line No.	Ite	em Desci	ription	Adjustme Type		Other Item Adjustment Type			Comments			Adjust Quar		Line Iter Adjustme Unit Pric	nt	Adjustment amount
7P3210	0030								5,1	11.5	\$0.2	27	\$1,364.77				
	0150	Т	YPE A2	SHOULDER	Other I Adjustm		Fuel Price	See Fu	iel Index	work sheet	work sheet for Calculations.						\$328.93
	0150	Т	YPE A2	SHOULDER	Other I Adjustm	nent	Asphalt Cement Price Adjustment	See work	k sheet f	or AC Adjus		r SY for ulations.					\$1,072.01
	0180			MISC.	Construc Stock			Payment	Estimate	e Item Adjus Stoc	tment ge kpile Trai						(\$1,047.67
	0180			MISC.	Other I Adjustm		Fuel Price	See Fu	iel Index	work sheet	for Calc	ulations.					\$680.14
	0180			MISC.	Other I Adjustm	nent	Asphalt Cement Price Adjustment	See work	k sheet f	or AC Adjus		r SY for ulations.					\$2,216.59
	0190			MISC.	Other I Adjustm		Fuel Price	See Fu	iel Index	work sheet	for Calc	ulations.					\$179.42
	0190			MISC.		nent	Asphalt Cement Price Adjustment	See work	k sheet f	or AC Adjus		r SY for ulations.					\$698.43
	0210			CONCRETE -22 (SP095C MIX)	Р	rice		Re		Item Price A stment Type			2,53	35.34	\$2.9	95	\$7,491.42
	0210			CONCRETE -22 (SP095C MIX)	Р	rice		Re		Item Price Astronomy			2,10	9.49	\$2.9	95	\$6,233.12
	0210			CONCRETE -22 (SP095C MIX)	Р	rice		Re		Item Price Astment Type			1,97	4.78	\$2.9	95	\$5,835.08
	0210			CONCRETE -22 (SP095C MIX)	Р	rice		Re		Item Price Astment Type			1,29	9.62	\$2.9	95	\$3,840.12
	0210			CONCRETE -22 (SP095C MIX)	Other I Adjustm	nent	Asphalt Cement Price Adjustment	See work	k sheet f	or AC Adjus		r TONS ulations					\$91,090.94
	0220			CONCRETE -22 (SP190C MIX)	Р	rice		Re		Item Price Astment Type			1,75	55.38	\$2.9	95	\$5,186.80

Revision 4/1/2020 Page 2 of 16



### Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: November 3, 2022

Progi		timate Number 17	Contract II Prime Con	211119 tractor APAC-		Pay Period End November 1, 2022 Net Ch	al Contract A lange Order A lt Contract A	Amount (\$	59,969,500.00 5535,341.10) 59,434,158.90
Project Number	Line No.	Item Descri	ption	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J7P3210	0220	ASPHALTIC CONCRETE Construction MIXTURE PG 70-22 (SP190C MIX)  Stockpile Payment Estimate Item Adjustment general Stockpile Transaction							(\$3,633.16)
	0220	ASPHALTIC ( MIXTURE PG 70-2		Overrun		Reference Item Price Adjustment Index Adjustment Type applied is FUEL	-790.18	\$87.90	(\$69,460.61)
	0220	ASPHALTIC ( MIXTURE PG 70-2		Other Item Adjustment	Asphalt Cement Price Adjustment	See work sheet for AC Adjustment per TONS for calculations.			\$16,904.31
	0270	TO ULTRATHIN BONDED Price Reference Item Price Adjustment Ind WEARING SURFACE, TYPE C Reference Item Price Adjustment Type applied is FUE					25,304	\$0.12	\$3,084.30
	0270	ULTRATHI WEARING SURF	N BONDED ACE, TYPE C	Material			-25,304	\$6.55	(\$165,741.20)
	0270	ULTRATHI WEARING SURF	N BONDED ACE, TYPE C	Other Item Adjustment	Asphalt Cement Price Adjustment	See Work sheet for AC UBAWS for calculations.			\$17,565.09
	0300	PIPE COLLA	AR, TYPE A	MaterialCredit			2	\$2,000.00	\$4,000.00
	0300	PIPE COLL	AR, TYPE A	Material			-2	\$2,000.00	(\$4,000.00)
	0360	MANHOLE F COVER	RAME AND R, TYPE 1-A	MaterialCredit			1	\$775.00	\$775.00
	0580	6 IN. WHITE HIGH BUILD Material WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS					-18,000	\$0.25	(\$4,500.00)
	0730	PRECAST (	CONCRETE DLE - 72 IN.	MaterialCredit			3	\$2,500.00	\$7,500.00
	1060		LAT SHEET DRESCENT	MaterialCredit			82	\$21.00	\$1,722.00
Total									(\$70,614.17)

Revision 4/1/2020 Page 3 of 16



### Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					C	Contract Project Information		
Project Number	Federal Proj. Number	Project Description	Route	County			Location of Work	
J7P3210	FAF 65-1(74)	Coldmill, resurface, turn lanes, and guardrail improvements	65	CHRISTIAN	from 0.4 mile north of F	Route EE in Christian County	to 0.8 mile north of Route 465 in Tane	ey County
J7P3352	FAF 65-1(76)	High Friction Surface Treatment	65	CHRISTIAN	on curves near Saddle	brooke		
otals by	Job Numb	ers						
J7P3210					This Estimate	Previous	To Date	1
071 0210		ed Item Pay s Item Adjustme		_	\$1,229,383.12 (\$70,614.17)	\$4,215,045.77 \$1,118,608.91	\$5,444,428.89 \$1,047,994.74	
			Gross	Item Pay	\$1,158,768.95	\$5,333,654.68	\$6,492,423.63	
	Incer				\$17,945.96	\$38,547.31	\$56,493.27	
		centive dated Damages			\$0.00 \$0.00	\$0.00 \$0.00	\$0.00 \$0.00	
		Contract Adjus			\$0.00	\$0.00	\$0.00	
J7P3352					This Estimate	Previous	To Date	
	Poste	d Item Pay			\$68,234.28	\$0.00	\$68,234.28	
		s Item Adjustme			\$0.00	\$0.00	\$0.00	
			Gross	Item Pay	\$68,234.28	\$0.00	\$68,234.28	
	Incen	tive			\$0.00	\$883.25	\$883.25	
		centive			\$0.00	\$0.00	\$0.00	
		dated Damages			\$0.00	\$0.00	\$0.00	
	Othe	Contract Adjus	stments		\$0.00	\$0.00	\$0.00	

Revision 4/1/2020 Page 4 of 16



### Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

#### **Exceptions (Discrepancies) This Estimate Period**

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project J7P3210, Item 4133200, Project Item Line Number 0270, Material Set 413320096, Material 1015EACPEM1 - Cationic Polymer Mod Emulsion CPEM-1, Acceptance Action Generic AspEmulsion is insufficient.	No testing information submitted at this time.	RUSSEA1	Acknowledged
Estimate Exception Type: Insufficient Materials: Project J7P3210, Item 4133200, Project Item Line Number 0270, Material Set 413320096, Material 0413UBWSACTC - Ultrathin Bonded Asph Wear Surf Type C, Acceptance Action Generic AspUBAWS is insufficient.	No testing information submitted at this time.	RUSSEA1	Acknowledged
Estimate Exception Type: Insufficient Materials: Project J7P3210, Item 4133200, Project Item Line Number 0270, Material Set 413320096, Material 1015EAPEM1 - PEM-1 Anionic Polymer Mod Emulsion Membr, Acceptance Action Generic AspEmulsion is insufficient.	No testing information submitted at this time.	RUSSEA1	Acknowledged
Estimate Exception Type: Insufficient Materials: Project J7P3210, Item 6044011, Project Item Line Number 0300, Material Set 604401196, Material 1005FACCNSCA - Natural Sand for Conc Class A, Acceptance Action Generic 1005FACCNSCA is insufficient.	Missing QC Concrete Sand test.	RUSSEA1	Acknowledged
Estimate Exception Type: Insufficient Materials: Project J7P3210, Item 6044011, Project Item Line Number 0300, Material Set 604401196, Material 100510CPCMLD - PCCP or Masonry 1" Max LS/DO, Acceptance Action Generic 100510CPCMLD is insufficient.	Missing QC Concrete Rock test.	RUSSEA1	Unresolved
Estimate Exception Type: Insufficient Materials: Project J7P3210, Item 6205902A, Project Item Line Number 0580, Material Set 6205902A96, Material 1048PMRBEMTL - Reflective Glass Beads Type L Embedm Ctd, Acceptance Action Generic 1048PMRBEMTL is insufficient.	Missing Certification for Paint.	RUSSEA1	Acknowledged
Estimate Exception Type: Insufficient Materials: Project J7P3210, Item 6205902A, Project Item Line Number 0580, Material Set 6205902A96, Material 1048PMTRHBWBWH - Marking Paint Acrylic Watr HiBld White, Acceptance Action Generic 1048PMTRHBWBWH is insufficient.	Missing Certifications on Beads.	RUSSEA1	Acknowledged
Estimate Exception Type: Item Overrun: Contract 211119-G02, Contract Project J7P3210, Project Item Line Number 0220, Contract Line Item Number 0220, Item 4030208, Minor Item.	Will be addressed on future change order.	RUSSEA1	Acknowledged

Revision 4/1/2020 Page 5 of 16



Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract m.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)		
11119-G02	J7P3210	0001	0010	2013000	CLEARING AND GRUBBING	7.00	0.00	7.00	ACRE	5.00	\$4,350.00	\$21,750.00		
		0001	0020	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	0.20	\$150,000.00	\$30,000.00		
		0001	0030	2035000	UNCLASSIFIED EXCAVATION	15,364.00	-1,412.00	13,952.00	CUYD	10,756.00	\$13.50	\$145,206.00		
		0001	0040	2035500	EMBANKMENT IN PLACE	733.00	0.00	733.00	CUYD	0.00	\$13.15	\$0.00		
		0001	0050	2036000	COMPACTING EMBANKMENT	2,317.00	0.00	2,317.00	CUYD	250.00	\$8.70	\$2,175.00		
		0001	0060	2039907	MISC.UNCLASSIFIED EXCAVATION	14,668.00	-1,076.00	13,592.00	CUYD	13,592.00	\$49.00	\$666,008.00		
		0001	0070	2063000	CLASS 3 EXCAVATION	44.00	-1.00	43.00	CUYD	42.00	\$33.95	\$1,425.90		
		0001	0800	2063500	CULVERT CLEANOUT	4.00	-1.00	3.00	EA	0.00	\$505.00	\$0.00		
		0001	0090	2071000	LINEAR GRADING CLASS 1	61.70	0.00	61.70	STA	0.00	\$555.00	\$0.00		
		0001	0100	2153000	SHAPING SLOPES, CLASS III	26.00	0.00	26.00	100F	8.25	\$815.00	\$6,723.75		
		0001	0110	3040504	TYPE 5 AGGREGATE FOR BASE (4 IN. THICK)	166.00	0.00	166.00	SQYD	0.00	\$8.45	\$0.00		
		0001	0120	3040506	TYPE 5 AGGREGATE FOR BASE (6 IN. THICK)	13,871.00	-6,386.80	7,484.20	SQYD	4,104.00	\$6.55	\$26,881.20		
		0001	0130	3107002	GRAVEL (A) OR CRUSHED STONE (B) OR CHAT (C)	874.00	0.00	874.00	TONS	0.00	\$36.00	\$0.00		
		0001	0140	4010105	5 3/4 INCHES, BITUMINOUS PAVEMENT	165.70	0.00	165.70	SQYD	0.00	\$39.75	\$0.00		
		0001	0150	4010150	TYPE A2 SHOULDER	3,102.10	0.00	3,102.10	SQYD	2,242.00	\$30.40	\$68,156.80		
		0001	0160	4011209	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-1)	769.90	0.00	769.90	TONS	0.00	\$74.85	\$0.00		
		0001	0170	4019901	MISC.INTELLIGENT COMPACTION - SURFACE LEVELING	1.00	0.00	1.00	LS	0.00	\$1.00	\$0.00		
		0001	0180	4019905	MISC.OPTIONAL PAVEMENT - 9" HMA/7.5" PCCP	7,185.90	-4,427.00	2,758.90	SQYD	1,101.00	\$32.50	\$35,782.50		
		0001	0190	4019905	MISC.OPTIONAL PAVEMENT 11.5" HMA/9" PCCP	4,316.20	-1,959.80	2,356.40	SQYD	746.00	\$39.50	\$29,467.00		
		0001	0200	4020520	BITUMINOUS PAVEMENT MIXTURE PG64-22 (SURFACE LEVELING)	4,626.10	0.00	4,626.10	TONS	2,222.30	\$60.25	\$133,893.58		
		0001	0210	4030003	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP095C MIX)	49,511.20	720.05	50,231.25	TONS	37,487.03	\$63.19	\$2,368,805.43		
		0001 0001 0001	0220	4030208	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP190C MIX)	965.20	0.00	965.20	TONS	1,755.38	\$84.95	\$149,119.53		
	0001	0235	4031057	ASPHALT PERFORMANCE TESTING REPORTING	1.00	0.00	1.00	LS	0.00	\$1,000.00	\$0.00			
			0240	4031058	INTELLIGENT COMPACTION	1.00	0.00	1.00	LS	0.00	\$50,000.00	\$0.00		
			0250	4031059	PAVER-MOUNTED THERMAL PROFILES	1.00	0.00	1.00	LS	0.00	\$14,750.00	\$0.00		
		0001	0260	4071005			1.00 64,795.00				GAL	41,680.00	\$2.30	\$95,864.00
		0001	0270	4133200	ULTRATHIN BONDED WEARING SURFACE, TYPE C	25,304.00	0.00	25,304.00	SQYD	25,304.00	\$6.55	\$165,741.20		
		0001	0280	4134000	BITUMINOUS FOG SEAL	15,806.00	0.00	15,806.00	GAL	6,775.00	\$2.95	\$19,986.25		
		0001	0290	4139905	MISC.HIGH FRICTION SURFACE TREATMENT (HFST)	43,648.00	-43,648.00	0.00	SQYD	0.00	\$19.50	\$0.00		
		0001	0300	6044011	PIPE COLLAR. TYPE A	5.00	-1.00	4.00	EA	2.00	\$2,000.00	\$4,000.00		
		0001	0310	6083004	4 IN. CONCRETE MEDIAN STRIP	33.10	0.00	33.10	SQYD	0.00	\$100.00	\$0.00		
		0001	0320		IMPACT ATTENUATOR 65 MPH (SAND BARREL ARRAY)	2.00	0.00	2.00	EA	1.00	\$3,475.00	\$3,475.00		
		0001	0330	6122020	REPLACEMENT SAND BARREL	34.00	0.00	34.00	EA	0.00	\$205.00	\$0.00		
			0340	6122030	IMPACT ATTENUATOR (RELOCATION)	1.00	0.00	1.00	EA	0.00	\$1,025.00	\$0.00		
		0001	0350	6123000A		4.00		4.00			\$260.00			
		0001			TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)		0.00		EA	1.00		\$260.00		
		0001	0360	6143010	MANHOLE FRAME AND COVER, TYPE 1-A	1.00	0.00	1.00	EA	1.00	\$775.00	\$775.00		
		0001	0370	6161005	CONSTRUCTION SIGNS	2,360.00	0.00	2,360.00	SQFT	2,246.00	\$7.15	\$16,058.90		
		0001	0380	6161008	ADVANCED WARNING RAIL SYSTEM	4.00	0.00	4.00	EA	4.00	\$101.50	\$406.00		
		0001	0390	6161025	CHANNELIZER (TRIM LINE)	350.00	0.00	350.00	EA	350.00	\$18.25	\$6,387.50		
		0001	0400	6161030	TYPE III MOVEABLE BARRICADE	16.00	0.00	16.00	EA	0.00	\$125.00	\$0.00		
		0001	0410	6161033	DIRECTIONAL INDICATOR BARRICADE	60.00	0.00	60.00	EA	30.00	\$50.75	\$1,522.50		
		0001	0420	6161040	FLASHING ARROW PANEL	4.00	0.00	4.00	EA	3.00	\$1,015.00	\$3,045.00		
		0001	0430	6161055	SEQUENTIAL FLASHING WARNING LIGHT	60.00	0.00	60.00	EA	30.00	\$50.75	\$1,522.50		
		0001	0440	6161070	TUBULAR MARKER	5.00	0.00	5.00	EA	0.00	\$71.00	\$0.00		
		0001	0450	6161099	CHANGEABLE MESSAGE SIGN WITH COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	8.00	0.00	8.00	EA	7.00	\$4,000.00	\$28,000.00		
		0001	0460	6162002	TEMPORARY LONG-TERM RUMBLE STRIPS	32.00	0.00	32.00	EA	0.00	\$865.00	\$0.00		

Page 6 of 16 Revision 4/1/2020



Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
119-G02	J7P3210	0001	0470	6169901	MISC.WORK ZONE INTELLIGENT TRANSPORTATION SYSTEM	1.00	0.00	1.00	LS	0.60	\$69,000.00	\$41,400.00
		0001	0480	6173700B	TEMPORARY TRAFFIC BARRIER ANCHORED, CONTRACTOR FURNISHED / RETAINED	4,370.00	0.00	4,370.00	LF	1,995.00	\$36.75	\$73,316.25
		0001	0490	6175010A	RELOCATING TEMPORARY TRAFFIC BARRIER	2,440.00	0.00	2,440.00	LF	0.00	\$12.25	\$0.0
		0001	0500	6181000	MOBILIZATION	1.00	0.00	1.00	LS	1.00	\$360,000.00	\$360,000.0
		0001	0510	6181020	ADDITIONAL MOBILIZATION FOR SEEDING	4.00	0.00	4.00	EA	0.00	\$600.00	\$0.0
		0001	0520	6191000	PAVEMENT EDGE TREATMENT	831.00	0.00	831.00	LF	0.00	\$8.25	\$0.0
		0001	0530	6200015	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. WHITE	410.00	12.00	422.00	LF	0.00	\$17.45	\$0.0
		0001	0540	6200021	PREFORMED THERMOPLASTIC PAVEMENT MARKING, LEFT/RIGHT ARROW	40.00	3.00	43.00	EA	0.00	\$285.00	\$0.00
		0001	0550	6205301B	TEMPORARY REMOVABLE MARKING TAPE 4 IN., WHITE	12,637.00	-4,650.00	7,987.00	LF	0.00	\$1.44	\$0.0
		0001	0560	6205303B	TEMPORARY REMOVABLE MARKING TAPE 4 IN., YELLOW	8,280.00	-2,325.00	5,955.00	LF	0.00	\$1.44	\$0.0
		0001	0570	6205901A	4 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	260.00	650.00	910.00	LF	0.00	\$1.05	\$0.0
		0001	0580	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	234,353.00	400.00	234,753.00	LF	18,000.00	\$0.25	\$4,500.0
		0001	0590	6205903A	6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	177,434.00	0.00	177,434.00	LF	0.00	\$0.25	\$0.0
		0001	0600	6205906A	12 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	5,233.00	0.00	5,233.00	LF	0.00	\$0.75	\$0.0
		0001	0610	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	125.00	0.00	125.00	LF	0.00	\$10.25	\$0.0
		0001	0620	6207001	PAVEMENT MARKING REMOVAL	11,863.00	-4,520.00	7,343.00	LF	0.00	\$0.65	\$0.0
		0001	0630	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	597,621.00	8,771.80	606,392.80	SQYD	327,181.00	\$0.75	\$245,385.7
		0001	0640	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	1,746.00	0.00	1,746.00	SQYD	0.00	\$7.25	\$0.0
		0001	0650	6261000A	BITUMINOUS SHOULDER RUMBLE STRIP	3,420.80	0.00	3,420.80	STA	0.00	\$8.05	\$0.0
		0001	0660	6269909	MISC.OPTIONAL RUMBLE STRIP	5.00	0.00	5.00	STA	0.00	\$8.05	\$0.0
		0001	0670	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKING	1.00	0.00	1.00	LS	0.75	\$20,670.00	\$15,502.5
		0001	0680	7123000	STEEL BAR DAM	2.00	0.00	2.00	EA	0.00	\$7,000.00	\$0.0
		0001	0690	7250324A	24 IN. PIPE GROUP B	12.00	0.00	12.00	LF	12.00	\$135.00	\$1,620.0
		0001	0700	7261015	261015 15 IN. PIPE GROUP A	13.00	0.00	13.00	LF	0.00	\$230.00	\$0.0
		0001	0710	7261018 18 IN. PIPE GROUP A	15.00			0.00	LF	0.00	\$205.00	\$0.0
		0001	0720	7261024	24 IN. PIPE GROUP A	129.00	0.00	129.00	LF	129.00		\$10,642.5
		0001	0730	7310072	PRECAST CONCRETE MANHOLE - 72 IN.	3.00	0.00	3.00	FT	3.00	\$2,500.00	\$7,500.0
		0001	0740	7320024A	24 IN. OR ALLOWED SUBSTITUTE GROUP B FLARED END SECTION	2.00	0.00	2.00	EA	2.00	\$1,115.00	\$2,230.0
		0001	0750	7320615A	15 IN. OR ALLOWED SUBSTITUTE GROUP A FLARED END SECTION	1.00	0.00	1.00	EA	0.00	\$975.00	\$0.0
		0001	0760	7320618A	18 IN. OR ALLOWED SUBSTITUTE GROUP A FLARED END SECTION	1.00	-1.00	0.00	EA	0.00	\$1,055.00	\$0.0
		0001	0770	7320624A	24 IN. OR ALLOWED SUBSTITUTE GROUP A FLARED END SECTION	1.00	0.00	1.00	EA	1.00	\$1,135.00	\$1,135.0
		0001	0780	8051000A	SEEDING - COOL SEASON GRASSES	6.10	0.00	6.10	ACRE	2.80	\$2,715.00	\$7,602.0
		0001	0790	8061003	SEDIMENT TRAP EXCAVATION	3.40	0.00	3.40	CUYD	0.00	\$80.00	\$0.0
		0001	0800	8061004	SEDIMENT TRAP ROCK	3.40	0.00	3.40	CUYD	0.00	\$110.00	\$0.0
		0001	0810	8061005	ROCK DITCH CHECK	1,868.00	0.00	1,868.00	LF	455.00	\$15.85	\$7,211.7
		0001	0820	8061016	SEDIMENT REMOVAL	216.00	0.00	216.00	CUYD	0.00	\$20.15	\$0.0
		0001	0830	8061017	TEMPORARY SEEDING	4.10	0.00	4.10	ACRE	0.00	\$2,350.00	\$0.0
		0001	0840	8061019	SILT FENCE	5,297.00	0.00	5,297.00	LF	3,905.00	\$3.05	\$11,910.2
		0010	0850	6061060	MGS GUARDRAIL	1,475.00	-1,475.00	0.00	LF	0.00	\$28.25	\$0.0
		0010	0860	6061061	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN. SPACING	30,825.00	-30,825.00	0.00	LF	0.00	\$33.50	\$0.0
		0010	0870	6061069	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	26.00	0.00	26.00	EA	12.00	\$3,530.00	\$42,360.0
		0010	0880	6061080	MGS END ANCHOR	31.00	0.00	31.00	EA	10.00	\$1,335.00	\$13,350.0
		0010	0890	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	37.00	0.00	37.00	EA	11.00	\$2,775.00	\$30,525.0
		0010	0900	6063020	TYPE C CRASHWORTHY END TERMINAL (MASH)	2.00	0.00	2.00	EA	0.00	\$25,240.00	\$0.0

Page 7 of 16 Revision 4/1/2020



Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

ntract P		Category	Line No.	Item Code	eport Generated date and can differ from the posted amo Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
9-G02 J7I	P3210	0010	0910	6069902	MISC.HTGC ANCHOR ASSEMBLY	2.00	0.00	2.00	EA	0.00	\$4,050.00	\$0.00
		0010	0920	6069903	MISC.HIGH TENSION GUARD CABLE	5,000.00	-5,000.00	0.00	LF	0.00	\$21.20	\$0.00
		0030	0930	9013003	CONDUIT, 3 IN. RIGID, IN TRENCH	857.00	0.00	857.00	LF	0.00	\$23.00	\$0.00
		0030	0940	9015010	TRENCHING TYPE I	857.00	0.00	857.00	LF	0.00	\$6.50	\$0.00
		0030	0950	9016110	PULL BOX, PREFORMED CLASS 1	3.00	0.00	3.00	EA	0.00	\$1,380.00	\$0.00
		0030	0960	9024944	DETECTOR, VEHICLE INDUCTION LOOP (2 CHANNEL - RACK MOUNTED)	4.00	0.00	4.00	EA	0.00	\$250.00	\$0.00
		0030	0970	9028311	CABLE, 16 AWG 7 CONDUCTOR	1,270.00	0.00	1,270.00	LF	0.00	\$1.95	\$0.00
		0040	0980	9031010	CONCRETE FOOTINGS, EMBEDDED	6.50	-1.62	4.88	CUYD	1.26	\$1,500.00	\$1,890.00
		0040	0990	9031210	STRUCTURAL STEEL POSTS	630.00	-300.00	330.00	LB	0.00	\$6.00	\$0.00
		0040	1000	9031241	BREAKAWAY ASSEMBLY (PERFORATED SQUARE STEEL	2.00	0.00	2.00	EA	0.00	\$368.00	\$0.00
		0040	1010	9031270A	TUBE) 2 IN. PSST POST - 12 GA.	688.00	0.00	688.00	LF	160.00	\$22.00	\$3,520.00
		0040	1030	9031273	POST ANCHOR FOR 2 IN. PSST - 7 GA.	129.00	0.00	129.00	LF	30.00	\$30.00	\$900.00
		0040	1040	9031280	2.5 IN. PSST POST - 12 GA.	112.00	0.00	112.00	LF	80.00	\$24.00	\$1,920.00
			1045	9031281	POST ANCHOR FOR 2.5 IN. PSST - 7 GA.	21.00	0.00	21.00	LF	15.00	\$33.00	\$495.00
		0040	1045	9031281 9035011A	ST-STRUCTURAL	66.00	0.00	66.00	SQFT	0.00	\$27.00	\$0.00
		0040			SHF-FLAT SHEET FLUORESCENT							
		0040	1060	9035069A		91.00	0.00	91.00	SQFT	82.00	\$21.00	\$1,722.00
		0040	1070	9039902	MISC.DYNAMIC CURVE WARNING SIGN	6.00	-6.00	0.00	EA	0.00	\$1,075.00	\$0.00
		0040	1080	9039902	MISC.REMOVE & RELOCATE SIGNS	38.00	0.00	38.00	EA	4.00	\$100.00	\$400.00
		0010	5001	6061060	MGS GUARDRAIL	0.00	1,475.00	1,475.00	LF	0.00	\$29.86	\$0.00
	0010 0001 0040	5002	6061061	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN. SPACING	0.00	30,825.00	30,825.00	LF	13,885.00	\$35.11	\$487,502.35	
		5003	6069903	MISC.MISC. HIGH TENSION GUARD CABLE	0.00	5,000.00	5,000.00	LF	0.00	\$22.81	\$0.00	
		5004	6162004	TEMPORARY SHORT-TERM RUMBLE STRIPS	0.00	4.00	4.00	EA	4.00	\$2,100.00	\$8,400.00	
			5005	9039902		0.00	6.00	6.00	EA	0.00	\$12,083.50	\$0.00
		0001	5006 6049902		0.00	1.00	1.00	EA	0.00	\$1,050.00	\$0.00	
		0001	5007	6200018	PREFORMED THERMOPLASTIC PAVEMENT MARKING, 24 IN. YELLOW	0.00	52.00	52.00	LF	0.00	\$17.45	\$0.00
		0001	5008	4030003	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP095C MIX)	0.00	110.00	110.00	TONS	0.00	\$228.25	\$0.00
		0001	5009	4139905	MISC. HIGH FRICTION SURFACE TREATMENT (HFST)	0.00	18,219.00	18,219.00	SQYD	1,400.00	\$20.75	\$29,050.00
		0001	5010	1046002	VALUE ENGINEERING	0.00	77,126.17	77,126.17	EA	0.00	\$1.00	\$0.00
		0040	5011	9031210	STRUCTURAL STEEL POSTS	0.00	300.00	300.00	LB	0.00	\$3.75	\$0.00
		0001	5012	1046002	VALUE ENGINEERING	0.00	776.25	776.25	EA	0.00	\$1.00	\$0.00
	-	P3210 - To			ate as of Report Generated Date							\$5,444,428.88
J71	P3352	0001	1090	4139905	MISC.HIGH FRICTION SURFACE TREATMENT- BUXITE	8,336.00	0.00	8,336.00	SQYD	2,210.50	\$19.60	\$43,325.80
		0001	1100	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	0.00	\$291.00	\$0.00
		0001	1110	6161005	CONSTRUCTION SIGNS	276.00	0.00	276.00	SQFT	276.00	\$6.15	\$1,697.40
		0001	1120	6161008	ADVANCED WARNING RAIL SYSTEM	4.00	0.00	4.00	EA	0.00	\$76.15	\$0.00
		0001	1130	6161025	CHANNELIZER (TRIM LINE)	200.00	0.00	200.00	EA	0.00	\$12.15	\$0.00
		0001	1140	6161033	DIRECTIONAL INDICATOR BARRICADE	10.00	0.00	10.00	EA	10.00	\$50.75	\$507.50
		0001	1150	6161040	FLASHING ARROW PANEL	1.00	0.00	1.00	EA	1.00	\$610.00	\$610.00
		0001	1160	6161055	SEQUENTIAL FLASHING WARNING LIGHT	10.00	0.00	10.00	EA	10.00	\$50.75	\$507.50
		0001	1170	6161099	CHANGEABLE MESSAGE SIGN WITH COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	2.00	0.00	2.00	EA	0.00	\$1,015.00	\$0.00
		0001	1180	6162002	TEMPORARY LONG-TERM RUMBLE STRIPS	4.00	0.00	4.00	EA	0.00	\$865.00	\$0.00
		0001	1190	6181000	MOBILIZATION	1.00	0.00	1.00	LS	0.75	\$28,781.44	\$21,586.08
		0001	1200	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	3,908.00	0.00	3,908.00	LF	0.00	\$0.85	\$0.00
		0001	1210	6205903A	6 IN. YELLOW HIGH BUILD WATERBORNE PAVEMENT MARKING PAINT, TYPE L BEADS	3,126.00	0.00	3,126.00	LF	0.00	\$0.85	\$0.00

Revision 4/1/2020 Page 8 of 16



#### Total Paid / All Items / All Estimates (Including this Estimate)

oter Patrial (Am Lemis) Am Estimates (including this Estimate) doter Patrial (Am Lemis) and Value and Value (including this Estimate) doter Patrial (Am Lemis) and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

11000. I obliga Quantitado ana values are based of report constitued and early and from the posted amount at the time the Estimate was constitued.												
Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
211119-G02	Project J	7P3352 - To	tal Value	Posted to D	ate as of Report Generated Date							\$68,234.28
211119-G02 Ove	22 Overall - Total Value Posted to Date as of Report Generated Date										\$5,512,663.16	

Revision 4/1/2020 Page 9 of 16



# Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

#### The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work,

Project: J7P3210

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0030	2035000	UNCLASSIFIED EXCAVATION	10/31/22	11/1/22	5,111.50	CUYD	Location D, Route 65/BB Right turn lane	323+54		329+70		
0150	4010150	TYPE A2 SHOULDER	10/20/22	11/2/22	352.00	SQYD	Rte. 65, Location H, Super Elevation correction	503+50		508+50		Paid 4" of 5.75"
0180	4019905	MISC.	10/20/22	11/2/22	465.00	SQYD	Route 65, 176 East intersection, Location I,	2129+00		2135+65		7.5 in of 9 in pavement
0190	4019905	MISC.	10/28/22	11/1/22	96.00	SQYD	Brookside Drive Location F	425+71.84		445+81		
0210	4030003	ASPH. CONC. MIXTURE PG 70-22 (SP095C)	10/21/22	11/1/22	2,535.34	TONS	SB Passing Route 65	290.323		293.103		
			10/22/22	11/1/22		TONS	Route 65, Passing Lane	293.103		296.047		
			10/26/22	11/1/22	2,109.49	TONS	NB Route 65, Passing lane	17.014		19.423		
			10/27/22	11/1/22	1,974.78	TONS	NB Route 65 Passing Lane	19.502		21.850		
			10/28/22	11/1/22	607.12	TONS	SB Driving Lane Route 65	290.323		290.817		
				11/1/22	692.50	TONS	NB Route 65, Passing Lane	21.850		22.619		
0220	4030208	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP1	10/19/22	11/2/22	1,755.38	TONS	Wedging for Super Elevation Correction	499+00		515+00		
0260	0260 4071005	TACK COAT		11/2/22	300.00	GAL	Super Elevation Correction location	499+00		515+00		
			10/20/22	11/2/22	974.00	GAL	Location H, Super Elevation Correction	505+00		508+00		
			10/21/22	11/1/22	2,532.00	GAL	SB Passing Route 65	290.323		293.103		
			10/22/22	11/1/22		GAL	Route 65, Passing Lane	293.103		296.047		
			10/26/22	11/1/22	2,020.00	GAL	NB Route 65, Passing Lane	17.014		19.423		
			10/27/22	11/1/22	1,947.00	GAL	NB Route 65 Passing Lane	19.502		21.850		
			10/28/22	11/1/22	1,461.00	GAL	Mainline Route 65	21.85		22.619		
0270	4133200	ULTRATHIN BONDED WEARING SURFACE, TYPE C	10/31/22	11/1/22	12,640.90	SQYD	SB Route 65, Busiek	26.297		27.111		
				11/1/22	12,663.10	SQYD	SB Route 65, Busiek	285.992		286.806		
0280	4134000	BITUMINOUS FOG SEAL	10/31/22	11/1/22	1,200.00	GAL	NB and SB Shoulders at Busiek	27.111		26.297		
0500	6181000	MOBILIZATION	10/30/22	11/2/22	0.50	LS	Various	16.987		33.140		
0580	6205902A	6 IN. WHITE HIGH BUILD WATERBORNE PAINT	10/17/22	11/2/22	9,000.00	LF	North Bound Route 65	22.6		33.2		
				11/2/22	9,000.00	LF	South Bound Route 65	22.85		33.2		
0630	6221001	COLDMILLING BIT. PAVT FOR REM OF SURF.	10/21/22	11/1/22	22,000.00	SQYD	SB Passing Route 65	290.323		293.103		
			10/22/22	11/1/22	24,000.00	SQYD	SB Passing Lane Route 65	293.103		296.047		
			10/26/22	11/1/22	19,000.00	SQYD	NB Route 65, Passing lane	17.014		19.423		
			10/27/22	11/1/22	19,000.00	SQYD	NB Route 65 Passing Lane	19.502		21.850		
			10/28/22	11/1/22	12,000.00	SQYD	Mainline includes Acceleration lane	21.85		22.619		
0670	6274000	CONTRACTOR FURNISHED SURVEYING AND STAKI	10/30/22	11/2/22	0.25	LS	Various	16.987		33.147		
5009	4139905	MISC.	10/28/22	11/1/22	1.400.00	SQYD	Route 65. SB Passing	286.8		287.0		

#### Project: J7P3352

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
1090	4139905	MISC.	10/31/22	11/1/22	2,210.50	SQYD	NB Driving Lane	23.693		24.007		
1110	6161005	CONSTRUCTION SIGNS	10/30/22	11/2/22	276.00	SQFT	Various	23.693		24.007		
1140	6161033	DIRECTIONAL INDICATOR BARRICADE	10/30/22	11/2/22	10.00	EA	Various	16.987		33.147		
1150	6161040	FLASHING ARROW PANEL	10/30/22	11/2/22	1.00	EA	Various	23.693		24.007		
1160	6161055	SEQUENTIAL FLASHING WARNING LIGHT	10/30/22	11/2/22	10.00	EA	Various	23.693		24.007		
1190	6181000	MOBILIZATION	10/31/22	11/1/22	0.75	LS	Saddle Brooke curves	23.693		24.007		

The information below this line are details for Construction Signs (if applicable). No Data Available

Revision 4/1/2020 Page 10 of 16



roject	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
P3210	0030	UNCLASSIFIED EXCAVATION	Price FUEL		12	Aug 16, 2022	SYSTEM	\$1,053.00	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					13	Sep 2, 2022	SYSTEM	(\$1,053.00)	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					15	Oct 3, 2022	SYSTEM	\$195.05	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					16	Oct 18, 2022	SYSTEM	\$1,403.75	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					17	Nov 3, 2022	SYSTEM	\$1,364.77	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				\$2,963.57	
			Price FUEL - 1	otal				\$2,963.57	
	0030 -							\$2,963.57	
	0050	COMPACTING EMBANKMENT	Material		15	Oct 4, 2022	SYSTEM	(\$2,175.00)	
				- Total				(\$2,175.00)	
			Material - Tota	ıl				(\$2,175.00)	
			MaterialCredit		16	Oct 18, 2022	SYSTEM	\$2,175.00	
				- Total				\$2,175.00	
			MaterialCredit	- Total				\$2,175.00	
	0050 -							\$0.00	
	0060	MISC.	Other Item Adjustment	FUEL	13	Sep 2, 2022	RUSSEA1	\$3,334.50	See attached sheet for calculations.
					14	Sep 15, 2022	RUSSEA1	\$1,260.00	See Attached sheet for calculations.
					15	Oct 4, 2022	RUSSEA1	\$802.37	See attach sheet for fuel calculations.
			Other Heart Ad	FUEL - Tota				\$5,396.87	
	0000	Total	Other Item Ad	justment - 10	tai			\$5,396.87	
	0060 -	TYPE 5	Drice FUEL		45	Oat 2	CVCTEM	\$5,396.87	Deference have Drice Adjustment Index Adjustment Type applied in EUE
	0120	AGGREGATE FOR BASE (6 IN.	Price FUEL		15	Oct 3, 2022 Oct 18,	SYSTEM	\$1,358.58 \$120.36	Reference Item Price Adjustment Index Adjustment Type applied is FUEL  Reference Item Price Adjustment Index Adjustment Type applied is FUEL
		THICK)		- Total		2022	OTOTEW		Reference from the Adjustment mack Adjustment Type applied is 1 OLL
			Date FUEL 7					\$1,478.94	
	0400	Total	Price FUEL - 1	otal				\$1,478.94	
	0120 -		Other II	4045	45	0.4.1	DUOCEA	\$1,478.94	One official Applied Applied Applied A 11 1 1 1/ONA 11 1 1
	0150	TYPE A2 SHOULDER	Other Item Adjustment	ACAD	15	Oct 4, 2022	RUSSEA1	\$2,301.04	See attached AS Price Adjustment (SY) worksheet.
					16	Oct 18, 2022 Nov 3,	RUSSEA1	\$3,783.17 \$1,072.01	See attached AC Price Adjustment (SY) worksheet for calculations.  See work sheet for AC Adjustment per SY for calculations.
					17	2022	NUSSEAT	φ1,072.01	occ work sheet for Ao Aujustinetic per 31 for calculations.
				ACAD - Tota	al			\$7,156.22	
				FUEL	15	Oct 4, 2022	RUSSEA1	\$474.16	See attach sheet for fuel calculations.
					16	Oct 18, 2022	RUSSEA1	\$971.83	Fuel Price Adjustment see attached documentation.
					17	Nov 3, 2022	RUSSEA1	\$328.93	See Fuel Index work sheet for Calculations.
				FUEL - Tota	I			\$1,774.92	
			Other Item Ad	justment - To	tal			\$8,931.14	
	0150 -	Total						\$8,931.14	
	0180	MISC.	Construction Stockpile		15	Oct 3, 2022	SYSTEM	(\$53,990.07)	Payment Estimate Item Adjustment generated Stockpile Transaction
					17	Nov 3, 2022	SYSTEM	(\$1,047.67)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$55,037.74)	



JP9210   NISC	ject Line	Description	Adjustment Type	Other Adjustment	Est. Number	Created Date	Created By	Amount	Remarks
Construction   Slockpile   Transaction   Transaction   Slockpile   Transaction   Transaction   Slockpile   Transaction   Transaction   Slockpile   Transaction   Transacti				Туре		Date	2,		
Stockpile   STM    Total     S55,037.74	210 0180	MISC.		Stockpile - To					
Construction Stockpile STMI - Total   \$55,037.74			Stockpile		1		SYSTEM	\$55,037.74	Payment Estimate Item Adjustment generated Stockpile Transaction
Other Item Adjustment			SIMI	- Total				\$55,037.74	
Adjustment			Construction	Stockpile STI	VII - Total			\$55,037.74	
2022   S4,911.45   S4,911.45   See attach sheet for fuel calculations.				ACAD	15		RUSSEA1	\$2,694.86	See attached Asphalt Cement Price Adjustment (SY) worksheet.
FUEL   15							RUSSEA1		See work sheet for AC Adjustment per SY for calculations.
2022   17   Nov 3, RUSSEA1   \$680.14   See Fuel Index work sheet for Calculations.								\$4,911.45	
Construction Stockpile - Total   S1,569,10				FUEL	15		RUSSEA1	\$17.51	See attach sheet for fuel calculations.
Other Item Adjustment - Total					17		RUSSEA1	\$680.14	See Fuel Index work sheet for Calculations.
NISC   Construction   Stockpile   Total   (\$32,323.75)   Payment Estimate Item Adjustment generated Stockpile Transaction   Stockpile   Total   (\$32,323.75)				FUEL - Tota	ıl			\$697.65	
Misc.   Construction   Stockpile   -Total   (\$32,323.75)   Payment Estimate Item Adjustment generated Stockpile Transaction   Stockpile -Total   (\$32,323.75)			Other Item Ad	justment - To	tal			\$5,609.10	
Stockpile   2022   (\$32,323.75)	0180	- Total						\$5,609.10	
Construction Stockpile - Total   (\$32,323.75)	0190	MISC.			15		SYSTEM	(\$32,323.75)	Payment Estimate Item Adjustment generated Stockpile Transaction
Construction Stockpile STMI				- Total				(\$32,323.75)	
Stockpile   STMI    - Total   \$32,323.75			Construction	Stockpile - To	otal			(\$32,323.75)	
Construction Stockpile STMI - Total   \$32,323.75			Stockpile		1		SYSTEM	\$32,323.75	Payment Estimate Item Adjustment generated Stockpile Transaction
Other Item Adjustment			STIVII	- Total				\$32,323.75	
Adjustment   2022			Construction	Stockpile STI	VII - Total			\$32,323.75	
ACAD - Total   \$4,217.66     FUEL   15				ACAD	15		RUSSEA1	\$3,519.23	See attached Asphalt Cement Price Adjustment (SY) worksheet.
FUEL   15					17		RUSSEA1	\$698.43	See work sheet for AC Adjustment per SY for calculations.
2022   17   Nov 3, 2022   18   18   18   19   19   19   19   19				ACAD - Tota	al			\$4,217.66	
2022				FUEL	15		RUSSEA1	\$2,293.12	See attach sheet for fuel calculations.
Other Item Adjustment - Total					17		RUSSEA1	\$179.42	See Fuel Index work sheet for Calculations.
0190 - Total   \$6,690.20				FUEL - Tota	ıl			\$2,472.54	
0200 BITUMINOUS Construction 16 Oct 18, SYSTEM (\$21,845.47) Payment Estimate Item Adjustment generated Stockpile Transaction			Other Item Ad	justment - To	tal			\$6,690.20	
	0190	- Total						\$6,690.20	
	0200				16		SYSTEM	(\$21,845.47)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$21,845.47)	
Construction Stockpile - Total (\$21,845.47)				Stockpile - To					
Construction 1 Mar 1, SYSTEM \$6,534.44 Payment Estimate Item Adjustment generated Stockpile Transaction Stockpile STMI			Stockpile		1		SYSTEM	\$6,534.44	Payment Estimate Item Adjustment generated Stockpile Transaction
9 Jun 30, 2022 \$15,311.03 Payment Estimate Item Adjustment generated Stockpile Transaction					9		SYSTEM	\$15,311.03	Payment Estimate Item Adjustment generated Stockpile Transaction
- Total \$21,845.47								\$21,845.47	
Construction Stockpile STMI - Total \$21,845.47			Construction					\$21,845.47	
Other Item ACAD 16 Oct 18, Adjustment CONS) worksheet for calculations 2022 See attached AC Price Adjustment (TONS) worksheet for calculations				ACAD	16		RUSSEA1	\$25,562.01	See attached AC Price Adjustment (TONS) worksheet for calculations.
ACAD - Total \$25,562.01									
Other Item Adjustment - Total \$25,562.01				justment - To			0		
2022			Price FUEL		16		SYSTEM		Reference Item Price Adjustment Index Adjustment Type applied is FUEL
- Total \$6,566.46									
Price FUEL - Total \$6,566.46			Price FUEL - 1	otal					
0200 - Total \$32,128.47			Comotoristica		10	lul 45	CVCTCA		Decrease Federate Home Adjustment and artist of Objects to the Towns of
O210 ASPH. CONC. Construction MIXTURE PG 70-22 (SP095C) Stockpile To-22	0210	MIXTURE PG			10		SYSIEM	(\$3,633.16)	rayment Estimate item Adjustment generated Stockpile Transaction



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J7P3210	0210	ASPH. CONC. MIXTURE PG	Construction Stockpile		15	Oct 3, 2022	SYSTEM	(\$202,371.97)	Payment Estimate Item Adjustment generated Stockpile Transaction
		70-22 (SP095C)		- Total				(\$206,005.13)	
			Construction	Stockpile - To	otal			(\$206,005.13)	
			Construction Stockpile STMI		1	Mar 1, 2022	SYSTEM	\$3,633.16	Payment Estimate Item Adjustment generated Stockpile Transaction
			STIVII		9	Jun 30, 2022	SYSTEM	\$202,371.97	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				\$206,005.13	
			Construction	Stockpile STI	VII - Total			\$206,005.13	
			Other Item Adjustment	ACAD	15	Oct 4, 2022	RUSSEA1	\$148,648.53	See attached Asphalt Cement Price Adjustment (Tons) worksheet.
					16	Oct 18, 2022	RUSSEA1	\$191,455.09	See attached AC Price Adjustment (TONS) worksheet for calculations.
					17	Nov 3, 2022	RUSSEA1	\$91,090.94	See work sheet for AC Adjustment per TONS for calculations
				ACAD - Tota				\$431,194.56	
			Other Item Ad	justment - To	tal			\$431,194.56	
			Price FUEL		15	Oct 3, 2022	SYSTEM	\$72,080.17	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					16	Oct 18, 2022	SYSTEM	\$49,181.59	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
					17	Nov 3, 2022	SYSTEM	\$23,399.74	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				\$144,661.50	
	0040		Price FUEL - 1	「otal				\$144,661.50	
	0210 -							\$575,856.06	
	0220	ASPHALTIC CONCRETE MIXTURE PG 70-22 (SP1	Construction Stockpile	Total	17	Nov 3, 2022	SYSTEM	(\$3,633.16)	Payment Estimate Item Adjustment generated Stockpile Transaction
				- Total				(\$3,633.16)	
			Construction	Stockpile - To			0) (0 == 1 .	(\$3,633.16)	
			Construction Stockpile STMI	Total	10	Jul 15, 2022	SYSTEM	\$3,633.16	Payment Estimate Item Adjustment generated Stockpile Transaction
			O a madema d'a ma	- Total	W. T-4-1			\$3,633.16	
			Construction			NI O	DUODEAA	\$3,633.16	O TOVOS LIST
			Other Item Adjustment	ACAD Total		Nov 3, 2022	RUSSEA1	\$16,904.31	See work sheet for AC Adjustment per TONS for calculations.
			Other Item Ad	ACAD - Tota				\$16,904.31 \$16,904.31	
			Other Item Ad	Overrun		Nov 3, 2022	SYSTEM		Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				Overrun - To	otal			(\$69,460.61)	
			Overrun - Tota					(\$69,460.61)	
			Price FUEL		17	Nov 3, 2022	SYSTEM	\$5,186.80	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
				- Total				\$5,186.80	
			Price FUEL - T					\$5,186.80	
	0220 -	Total						(\$47,369.50)	
	0270	ULTRATHIN BONDED	Material		17	Nov 3, 2022	SYSTEM	(\$165,741.20)	
		WEARING SURFACE, TYPE		- Total				(\$165,741.20)	
		SURFACE, TYPE C	Material - Tota	ıl				(\$165,741.20)	
			Other Item Adjustment	ACAD	17	Nov 3, 2022	RUSSEA1	\$17,565.09	See Work sheet for AC UBAWS for calculations.
				ACAD - Tota	al			\$17,565.09	
			Other Item Ad					\$17,565.09	
			Price FUEL		17	Nov 3,	SYSTEM	\$3,084.30	Reference Item Price Adjustment Index Adjustment Type applied is FUEL
						2022			



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
J7P3210	0270	ULTRATHIN BONDED WEARING	Price FUEL	- Total				\$3,084.30	
		SURFACE, TYPE C	Price FUEL - 1	otal				\$3,084.30	
	0270 -	· Total						(\$145,091.81)	
	0300	PIPE COLLAR, TYPE A	Material		15	Oct 4, 2022	SYSTEM	(\$4,000.00)	
					16	Oct 18, 2022	SYSTEM	(\$4,000.00)	
					17	Nov 3, 2022	SYSTEM	(\$4,000.00)	
				- Total				(\$12,000.00)	
			Material - Tota	1				(\$12,000.00)	
			MaterialCredit		16	Oct 18, 2022	SYSTEM	\$4,000.00	
					17	Nov 3, 2022	SYSTEM	\$4,000.00	
				- Total				\$8,000.00	
			MaterialCredit	- Total				\$8,000.00	
	0300 -							(\$4,000.00)	
	0360	MANHOLE FRAME AND COVER, TYPE 1- A	Material		15	Oct 4, 2022	SYSTEM	(\$775.00)	
				Total	16	Oct 18, 2022	SYSTEM	(\$775.00)	
				- Total				(\$1,550.00)	
			Material - Tota	l			0) (0==1.4	(\$1,550.00)	
			MaterialCredit		16	Oct 18, 2022	SYSTEM	\$775.00	
				- Total	17	Nov 3, 2022	SYSTEM	\$775.00	
			MaterialCredit					\$1,550.00 \$1,550.00	
	0360	· Total	Waterlaioreuit	- IOtal				\$0.00	
	0580	6 IN. WHITE HIGH BUILD WATERBORNE PAINT	Material		17	Nov 3,	SYSTEM	(\$4,500.00)	
	0300		Iviaterial	- Total	17	2022	STOTEM	(\$4,500.00)	
			Material - Tota						
	0580 -	· Total		•				(\$4,500.00)	
	0730	PRECAST CONCRETE	Material		15	Oct 4, 2022	SYSTEM	(\$7,500.00)	
		MANHOLE - 72 IN.			16	Oct 18, 2022	SYSTEM	(\$7,500.00)	
				- Total				(\$15,000.00)	
			Material - Tota	ı				(\$15,000.00)	
			MaterialCredit		16	Oct 18, 2022	SYSTEM	\$7,500.00	
					17	Nov 3, 2022	SYSTEM	\$7,500.00	
				- Total				\$15,000.00	
			MaterialCredit	- Total				\$15,000.00	
	0730 -	· Total						\$0.00	
	0840	SILT FENCE	Material		13	Sep 2, 2022	SYSTEM	(\$11,910.25)	
				- Total				(\$11,910.25)	
			Material - Tota	I				(\$11,910.25)	
			MaterialCredit		14	Sep 15, 2022	SYSTEM	\$11,910.25	
				- Total				\$11,910.25	
			MaterialCredit	- Total				\$11,910.25	



Project	Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks			
J7P3210	0840 -	Total		,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,				\$0.00				
	0850	MGS GUARDRAIL	Construction Stockpile		4	Apr 18, 2022	SYSTEM	(\$28,762.50)	Payment Estimate Item Adjustment generated Stockpile Transaction			
				- Total				(\$28,762.50)				
			Construction	Stockpile - To	otal			(\$28,762.50)				
			Construction Stockpile STMI	Total	2	Mar 17, 2022	SYSTEM	\$28,762.50	Payment Estimate Item Adjustment generated Stockpile Transaction			
				- Total				\$28,762.50				
	0850 -	Takal	Construction	Stockpile STI	VII - I otal			\$28,762.50				
			Construction		4	Amr. 10	CVCTEM	\$0.00	Decimant February Adjustment represented Steelings Transpostion			
	0860	MGS GUARDRAIL, 8 FT. POSTS, 6	Construction Stockpile	- Total	4	Apr 18, 2022	SYSTEM	(\$699,111.00)	Payment Estimate Item Adjustment generated Stockpile Transaction			
		FT 3 IN	Construction		vtal.			(\$699,111.00)				
			Construction	этоскрпе - то	2	Mar 17,	CVCTEM		Doument Estimate Item Adjustment generated Steelenile Transaction			
			Stockpile STMI		2	2022	SYSTEM	\$699,111.00	Payment Estimate Item Adjustment generated Stockpile Transaction			
			STMI	- Total				\$699,111.00				
			Construction	Stockpile STI	VII - Total			\$699,111.00				
	0860 -	Total						\$0.00				
	0870	MGS BRIDGE APP. TRANS SEC (REG/NO CURB)	Construction Stockpile		4	Apr 18, 2022	SYSTEM	(\$2,440.00)	Payment Estimate Item Adjustment generated Stockpile Transaction			
								5	May 1, 2022	SYSTEM	(\$9,760.00)	Payment Estimate Item Adjustment generated Stockpile Transaction
					8	Jun 15, 2022	SYSTEM	(\$17,080.00)	Payment Estimate Item Adjustment generated Stockpile Transaction			
				- Total				(\$29,280.00)				
			Construction	Stockpile - To	otal			(\$29,280.00)				
			Construction Stockpile		2	Mar 17, 2022	SYSTEM	\$63,440.00	Payment Estimate Item Adjustment generated Stockpile Transaction			
			STMI	- Total				\$63,440.00				
			Construction	Stockpile STI	MI - Total			\$63,440.00				
	0870 -	0870 - Total										
	0880	MGS END ANCHOR	Construction Stockpile		4	Apr 18, 2022	SYSTEM	(\$853.00)	Payment Estimate Item Adjustment generated Stockpile Transaction			
						6	May 16, 2022	SYSTEM	(\$2,559.00)	Payment Estimate Item Adjustment generated Stockpile Transaction		
						7	Jun 1, 2022	SYSTEM	(\$1,706.00)	Payment Estimate Item Adjustment generated Stockpile Transaction		
					8	Jun 15, 2022	SYSTEM	(\$2,559.00)	Payment Estimate Item Adjustment generated Stockpile Transaction			
					16	Oct 18, 2022	SYSTEM	, ,	Payment Estimate Item Adjustment generated Stockpile Transaction			
			Construction	- Total	tol			(\$8,530.00)				
			Construction Construction Stockpile	Stockpile - 10	2	Mar 17, 2022	SYSTEM	(\$8,530.00) \$26,443.00	Payment Estimate Item Adjustment generated Stockpile Transaction			
			STMI	- Total		2022		\$26,443.00				
			Construction		MI - Total			\$26,443.00				
	0880 -	Total	- Constitution	CLOCKPIIC OT	Potal			\$17,913.00				
	0890	TYPE A CRASHWORTHY	Construction Stockpile		4	Apr 18, 2022	SYSTEM	(\$3,600.00)	Payment Estimate Item Adjustment generated Stockpile Transaction			
		END TERMINAL (MASH)	·		5	May 1, 2022	SYSTEM	(\$7,200.00)	Payment Estimate Item Adjustment generated Stockpile Transaction			
					6	May 16, 2022	SYSTEM	(\$1,800.00)	Payment Estimate Item Adjustment generated Stockpile Transaction			
					7	Jun 1, 2022	SYSTEM	(\$1,800.00)	Payment Estimate Item Adjustment generated Stockpile Transaction			
					8	Jun 15, 2022	SYSTEM	(\$3,600.00)	Payment Estimate Item Adjustment generated Stockpile Transaction			



Project	Line	Description	Adjustment	Other	Est.	Created	Created	Amount	Remarks		
		·	Туре	Adjustment Type	Number	Date	Ву				
'P3210	0890	TYPE A CRASHWORTHY END TERMINAL	Construction Stockpile		16	Oct 18, 2022	SYSTEM	(\$1,800.00)	Payment Estimate Item Adjustment generated Stockpile Transaction		
		(MASH)		- Total				(\$19,800.00)			
			Construction	Stockpile - To	tal			(\$19,800.00)			
			Construction Stockpile STMI		2	Mar 17, 2022	SYSTEM	\$66,600.00	Payment Estimate Item Adjustment generated Stockpile Transaction		
				- Total				\$66,600.00			
			Construction	Stockpile STI	VII - Total			\$66,600.00			
	0890 -	Total						\$46,800.00			
	0900	TYPE C CRASHWORTHY END TERMINAL	Construction Stockpile STMI		3	Apr 2, 2022	SYSTEM	\$40,567.00	Payment Estimate Item Adjustment generated Stockpile Transaction		
		(MASH)		- Total				\$40,567.00			
			Construction	Stockpile STI	MI - Total			\$40,567.00			
	0900 -	Total						\$40,567.00			
	1060	SHF-FLAT SHEET FLUORESCENT	Material		16	Oct 18, 2022	SYSTEM	(\$1,722.00)			
		T EGGINESSENT		- Total				(\$1,722.00)			
			Material - Tota	ı				(\$1,722.00)			
					MaterialCredit		17	Nov 3, 2022	SYSTEM	\$1,722.00	
				- Total				\$1,722.00			
			MaterialCredit	- Total				\$1,722.00			
	1060 -	Total						\$0.00			
	5001	MGS GUARDRAIL	Construction Stockpile STMI		4	Apr 18, 2022	SYSTEM	\$28,762.50	Payment Estimate Item Adjustment generated Stockpile Transaction		
			0.1111	- Total				\$28,762.50			
			Construction	Stockpile STI	VII - Total			\$28,762.50			
	5001 -	Total						\$28,762.50			
	5002	MGS GUARDRAIL, 8 FT. POSTS, 6 FT 3 IN	8 Stockpile 6		4	Apr 18, 2022	SYSTEM	(\$21,829.50)	Payment Estimate Item Adjustment generated Stockpile Transaction		
						5	May 1, 2022	SYSTEM	(\$54,715.50)	Payment Estimate Item Adjustment generated Stockpile Transaction	
						6	May 16, 2022	SYSTEM	(\$49,329.00)	Payment Estimate Item Adjustment generated Stockpile Transaction	
						8	Jun 1, 2022	SYSTEM	(\$81,081.00)	Payment Estimate Item Adjustment generated Stockpile Transaction	
							Jun 15, 2022	SYSTEM	(\$103,987.80)	Payment Estimate Item Adjustment generated Stockpile Transaction	
				Total	16	Oct 18, 2022	SYSTEM	(\$3,969.00)	Payment Estimate Item Adjustment generated Stockpile Transaction		
			Construction	- Total	etal			(\$314,911.80)			
			Construction	Stockpile - 10		Am 10	CVCTEA:	(\$314,911.80)	December Federate Here Adjustment agreement of Ottober 1971. Toward		
			Construction Stockpile STMA		4	Apr 18, 2022	SYSTEM	\$699,111.00	Payment Estimate Item Adjustment generated Stockpile Transaction		
				- Total				\$699,111.00			
			Construction	Stockpile STI	MA - Total			\$699,111.00			
	5002 -							\$384,199.20			
	5003	MISC. GUARDRAIL ITEM	Construction Stockpile STMI		9	Jun 30, 2022	SYSTEM	\$57,500.00	Payment Estimate Item Adjustment generated Stockpile Transaction		
		ITEM		- Total				\$57,500.00			
			Construction	Stockpile STI	VII - Total			\$57,500.00			
	5003 -	Total						\$57,500.00			
3210 -	Total							\$1,047,994.74			
erall - 1	Γotal							\$1,047,994.74			